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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1 v 3eaar T, Formsh wiee 7S £ (T ) &, F THaT (n = 4/3) F @A ST
21 2 F gUuT I Bierel oETS AT 2R

A convex mirror of focal length f (in air) is immersed in a liquid (u = 4/3). The focal
length of the mirror in liquid will be:

Ans 21 (4/3)f
X 2 (3/H)f
X 3. (7/3)f
vf

Q2 Ry v Frgst & wE & wey F TR 3R e F TTT

Yo X |

Select the most appropriate term for the given set of items.

mY o X'o
IS IEH
Fine arts
=

| Pictures

K3 ?
Culture

ez

| Technology

Ans

Ko

52

g

Q.3 A 2018 # 96 AHY F FTAR FARER 4 & AL AR @9 Fa
%"?

‘Who is the MD and CEO of Allahabad Bank as of March 20182
reufy srgm=mar

Arundhathi Bhattacharya
52 i

Chitra Ramakrishna
Attempt Free RRB ALP Mock Test 2024|

Ans

.



https://www.oliveboard.in/rrb-alp-mock-test/

, Brar oTAT
Shikha Sharma

39T FATHIHUAA
-

X

o -
Usha Ananthasubramanian

Q4 gfEr 9x6=457x4=33 M 6x4 =20 ar

5x 3 o A Fhaell gran?
If9x6=457=4=33and 6 % 4 =20, then what is the value of 5 = 37

Ans X113
v 216
<324
< 410

Q.5 Fuw, 3l T HW & @ vH &b H AT T TTH H FF H - A9 e,
Y F S 07 3 AW a7t w1 e gaml ol A e s e gam?

Tapas. Avi and Rishi shared a cake. Tapas had % of it, Rishi had § of it and Avi had the
rest. What was Avi’s share of the cake?

.

Ans

vl W vl | W

—

»
|

o

Q6 FFRIHF 0T o & ¥ FEdr ¥ Rer F fodT dar
Negative acceleration is in the opposite direction of:

Ans
{1.#‘”

velocity
CE)

force

X3.{a‘

distance

Ty

momentum

&2

p

Q7 far & ¥ form e @ A U URAT T e

Which of the following numbers will have an irrational square root?

s of 12048
X 2 2401
X 31024
X 4 4096
Q.8
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E

FUUFT ged H, TIT AB 1 T DE & D g W Fawrr BT agrr S
% If¢ AB = 12 cm 3T DE = 8 cm &, a BD & oi@g AT Hil

A

8 D

E

In the circle above, chord AB is extended to meet the tangent DE at D. If AB = 12 ¢cm and
DE = 8 cm, find the length of BD.

e e
46 cm
}(2.6 eI
6 cm
(3.4 e
4 cm
x o 5 WA

5 cm

Q.9 ffafaa & ¥ e sfafEar g == wfafgar aweh agsit @1 e
g 87

By which of the following processes are metals of high reactivity extracted from purified
molten ore?

s, St

Calcination

| Solerg ol e

Electrolysis

Rurl

Roasting

IS TSE TART HI=a

" )

K03

p
Reduction by an appropriate reducing agent

Q.1013ﬁaﬁﬁwwﬁ€rwi@3@raﬁq§ﬂﬁr&ﬁma¥ﬁmﬁﬂm?
12 M 3 & A T4 Ui F 3 g W @ O A A qIH F g@d
3 & o A A 7 IR O 5 Ae T % qgen 3| HIE
gl w1 Fee?

A ladder 13 m long reaches a window which is 12 m above the ground on side of a street.
Keeping its foot at the same point, the ladder is turned to the other side of the street to
reach a window 5m high, then the width of the street is:

As o 17THII
17m
16 HIET
16m
14 HIET
14m
15 HeT
15m

Q.11

f
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SAH ¥ FiF TT TF VIAE g ?
Which of the following is a Saprotroph?

Ans hadL
r S

Pigeon

« 9 s s | -
Mushroom

arer
r 3 Algac

oY
Xa?
Man

Q.12 Tfof@a & ¥ 57 5098 & 759 & 3 g9 & U, 5 30 &
#Ew A e geh, e afome gErehifa geme

An increase in price of which of these products will have a ripple effect in increasing the
prices of many products, thereby resulting in inflation?

Ans BTMEH”
F 8
Automobiles
" ) ;

Petroleum

xs_mﬁqﬂﬂ

Smartphones
p ; :

Medicines

Q13 R v Reredt @, e B ¥ gAw w0 w9 1 999 F:

Image

Options

A B C D

From the options given, select the rotated version of the following image.

Image

Options

A B E D
Ans K1C
X 2B
v3D
X4 A
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Q.14 23 7w Fora & T A 3R Fo Fifew & i o (@) B s o
&1 I AR FT ATRPF T T FFEOT BT § (F )|

FUA:
TEIRT T T Fcatad 9 W & S0 | o T § FAr gur
ot & Siaer T F PR ar W R

forsd:
1. TP HT 2 HE T (e aoe aneel
2. FEHR FT 37 TAXAT B FRr & fRe i 9 & e @i Aee
e AT

Consider the given statement true and decide which of the conclusions logically follow(s)
from the information given in the statement.

Statement:

The population mn metro crties 15 mereasing tremendously which leads to the shortage of
living space and a drop in living conditions of the people.

Conclusions:

1. Government should re-plan city development.
2. Government should demolish illegal buildings and build cottages for people.

Ans x1_aa‘r1 3R 8 2 TR A B

Neither conclusion 1 nor 2 follows.

, heel feisehy 2 31e]HT0T T gl
Only conclusion 2 follows.
| TS 1 3 2 Qi SFET A e

Both conclusions 1 and 2 follow.

| e foIsa 1 STEeT wa ¢

Only conclusion 1 follows.

X

x

v

Q.15 3iRen Fimur & fzm o § T A s s witm a=

Which of the following is the last element in Newlands Law of Octaves classification?

Ans i.%-q.”.
.
Radium

qifTH

Thorium

<iar

Iron

54
Rhodium

o 2

&3

Q.16 3fg sgere 3t mftae & &= 3 2 8, a Aftae ik Arew & &= e e
v Rrarsad)

If the difference between the mode and median is 2, then the difference between the
median and mean is: (in the given order)

Ans 1 2
V21
X33
X 44

Q17 37 & aftay # F3 IRT sEET H 3 T A O FE 7 A=

‘When a number of resistors are connected in series in a circuit, the value of current:
Ans
X o 3T &Y S
becomes half
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v, FHTAE
remains the same
6T ¢

ha BT &

decreases

503

&4

Q.18 gz X 3R Y v o # vw q@y # AR 9o @ § 79 3 oF gEy @ e
g Y & o W X F e a5 81 X G far & g a w2

In the morning X and Y are walking towards each other in a park. When they meet each
other, Y’s shadow falls straight in front of X. In which direction was X facing?

Ans
X1 CICEE ]
West
52
North
3"
East
X 4 giaror
South

Q19 37 a1g F1 AH TAC 5 AT F AL F FET S G g
Name the metal that can be easily cut with a knife:

Ans GIEN
r 0
Copper

aifsas
Sodium
e

Gold

x4_u?~gpf|’|ﬁaﬁ

Aluminium

o 2

5 3

Q-20 qrely 1 selif=ieT 913sT H Herer 9T Fi €Y 3a et 2
Which gas is released when water is added to bleaching powder?

Ans FTIT ZTE HTFASS

Ko
Carbon dioxide
&2
Oxygen
W3
Chlorine
p ’l:
Hydrogen

2 frafolila 7 ¥ @i H v Pegerer searad &

‘Which of the following is not a Triangular number?
Attempt Free RRB ALP Mock Test 2024
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Ans  of 115
X 23
< 310
X 45

Q.22 fgu 71T JEFqedt H @9 AW F g0 IR TG a7 F F FieT o ey gFaedt
# ¥ Fad 9 & e ar saa §)
LGN

1. & ool Al &)

2. o afeorar @eg 76 ¢

o
1. FO T @Eh A
2. o Hieori &l g

Consider the given statements true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:
1. Some fruits are vegetables.
2. Some vegetables are not edible.

Conclusions:
1. Some fruits are not edible.

2. Some vegetables are fruits.

Ans 11_%3{%@?&214'3%

Conclusion 2 1s correct.

X2 &hacl oIy 1 HT &1
Conclusion 1 is correct.

3] 3 2 gt |@er
Both conclusions 1 and 2 are correct.

, 13T 2 gt e =R &l

Neither conclusion 1 nor 2 is correct.

X

Q.23 fZU 71T e & eA=IEgH 96 3R Fa fF 5w 3R & F v afataa
FoeT F T FT 97T B

FT X - 5 TH TEAT §? X UF aRdids T g

FU:
1. X -15 us qufis &
2. X -10 s Rus quiies §

Consider the given question and decide which of the following statements is/are sufficient
to answer the question.

Is X — 5 even? X is a real number.

Statements:

1. X - 15 belongs to mteger
2. X —101s an odd integer

Ans x1_m1 3T Fua 2 g4 9T §
" )
ool FUF 2 AT § A9k shael w1 HIAT &

Statement 2 alone is sufficient while statement 1 alone is insufficient
X 3 gt wue 1 3T Foe 2 9T =567 §

Neither statement 1 nor 2 1s sufficient

Both statements 1 and 2 are sufficient

54
Fdel FUF 1 AT ¢ A8k haol U= 2 HUAT ¢

Statement 1 alone is sufficient while statement 2 alone is insufficient
ATTtemp ree KRb ALF

vioC

es
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Q.24 40 Frarame 7R Fr v TEq Ao fer &7 5.0 e 9 FFs B oAy T g
@ &1 s At 10 Fex 9y d9E oF S & T saT R T e
Traar gem?

A 4.0 kg object is moving horizontally with a speed of 5.0 m/s. To increase its speed to 10
m/s, the amount of net work required to be done on this object is:

Ans 150 T
1. o~
1507
50 AT
&2 o
307
75 ol
Xs "
757
100 el
4, ™~
1007

Q.25 RegEe 39=arH ' HE 9 S T & J9EF HiT g7
‘Who is the author of the speculative fiction book ‘Half of What I Say’?

e S wirer
Namita Gokhale
X2 orfr %Y
Shashi Tharoor
. e A
Anil Menon
%. HIT. #10
K.R. Meera

X 4

Q6 Tr T R AR H it T TR G FRr = a9
T T FuT TAT B

9T ABC @1 fadhr e W

FUA:

1. H9A ABC 7 75,000 ®IgA ¥ 70/- i 7197 & R & =)
2. 3cER ¥ 8T # ABCF U FE T I A F

Consider the given question and decide which of the following statements is sufficient to
answer the question.

How was the sale of the company ABC?

Statements:

1. The company ABC sold 75000 units of soaps each at ¥ 70/-.
2. ABC has no other products in the production line.

Ans x1_

37T A & % T FuUa 1 kel 9ATSd g, Fafd HUd 2 Hho gAY 7ar
gl

1 alone is sufficient while 2 alone is not sufficient to answer the question.
W 2
Fua 1 3472 21 & 3T FEw & ¥ e 93T

Both 1 and 2 are sufficient to answer the question.

503
R & F B T sy 1T &2 99T

Neither 1 nor 2 is sufficient to answer the question.
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54

3R F9e & & BT Sy 2 3 Tt B, Saie #U 1 30%her qUed Jat
2l

2 alone is sufficient while 1 alone is not sufficient to answer the question.

Q.27 weadr 2018 F 396y FENT F FFEN, TUAAA H e Femgw afvg
(fromsedn) & sremer #ia 2

‘Who is the Chairman of the Economic Advisory Council to the Prime Minister (PMEAC)
as of February 20187

Ans x{mﬁlr—r (E:Ell
Amit Mitra
AT T

52
Amartya Sen

v [EEEa-cnie)
Bibek Debroy
ASTAT FIJer

4.

Najma Heptulla

x

Q.28 s TenmEr 90 faiiEey uid we¢ H = ¥ v 100 Hiet o Yol & 9 F
#F fIT 10 Uhs 1 AT o Tl RS 7 oEE Hied # AT #1

A train takes 10 seconds to cross a bridge of length 100 m travelling at 90 kmph. Find the
length of the train in metres.

as 1,140
v 2150
X130
X120

@2 g & TH.HTE. §HIS B

The SI unit of resistance is:
Ans

Q.30
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Ru a1 et W fEEr w1 S a7 &1 & Q) A AT F & He-did e
A seafiRa 22

Eameerr & Fafeas A &

31?_-_]"H'IF|':
() SAWCR o =Nfq sad &1
() & NS A SHEer gi=l & =igw|

Consider the given statement and decide which of the given assumptions is/are implicit in
the statement.

Statement:

Honesty 1s the best policy.

Assumptions:

(I)  Honest people are policy makers.
(II)  Each policy must contain honesty.

Ans JTH dr AR (1) 3T & (1) &fgd g1
Neither assumption (I) nor (IT) 1s implicit.
. dael A (1) Ffea g
Only assumption (I) 1s implicit.
X Fael 3 (1) fAfea 2
Only assumption (IT) 1s implicit.
x4_3ﬂﬂm (1) 3 (1) gt g AR &

Both assumptions (I) and (IT) are implicit.

X

<

Q.31 gfFa=s & AT BgFT T=oe (Sl 2018 & 390y AHFY F MT8N)
Fa 2
Who is the newly appointed Governor of Tamil Nadu as of February 20187
Ans T Afe=w
Satyapal Malik
x JEHATTH T
2.

Subramanian Swamy

3. =2

" 4

Banwarilal Purchit
x4 &. T

K Rosaiah

Q.32
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Figure) & frod T & e 3wged @

Answer Figures

o[ ¢ ]x]

A B C D

Select the Answer Figure that fits in the blank space in the given Problem Figure.
Problem Figure

0| Ao
|0
g1 2

Answer Figures

& o [x]

A B C D

Ans X' 1. B
< 2D
v A
X4C

W 3cc-HFd (Answer Figure) & T8I & ST &1 318 Wee-31pia (Problem

O3 H=r oTST F WaAH FIET &
The reflector of a search light is a:

”sxgmm#m
plane mirror
Jﬁmm#m
COncave mirror
x3mmmam
cylindrical mirror
xtﬁﬁﬁh

COnvex mirror

Q.34 37 @aed & g H1 o Y O & 380 aig @dfa @ S awg qau R
ugd o7 & wafaa &

A,
Pa Q._g,
(@R
AV L :?

Select the option that is related to the third figure in the same way as the second figure is
related to the first figure.
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xs &)

Q.35 fia v # w0 39gFa owed o |
F e o e & Riffes o s AT e R S g o wErT
g
Fill in the blank with the most appropriate option.
Plants that do not have a differentiated plant body belong to the group .

Ans 1 fEprEer
Pteridophyta
ST

| Phanerogams

deirmTEeT

Thallophyta

Bl IEIEC

Bryophyta

X2

W3

p

Q.36 7 1600 & UM 9T 6 Giel & HA™ & folv, 5% arfbies R &t W H3fod
&1 fohaar gem?

The interest earned on ¥ 1,600 at the rate of 5% simple interest per annum for 6 years
would be:

Ans - X1 T 496
# 232,080
v 3T 480
X 4T 450

Q37 rafaf@a fGecdl # O ddfaa asg AE &1 7 FY

9 : gar o

Select the related word pair from the following options.

Goose - Geese

Ans x1_EFﬂGIT:FﬁEIT

Socks - Sock
FHIGT : HHNA
Shirts - Shirt
SR : oihe
Jacket - Jacket

«4_%@:@

Pant : Pants

52

53

@3 A RT A A Rl AT
Which of the following is true?

A 29 43
ns AR
& 12
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6 12
20 43
XK=<
12
20 53
4 = = ==
6 12

Q.39 feafaf@a ser #, wear Rea () gan fmmn @ ug sqefe & | R
T faeRedl U SHURTT UG T UL F|

ST, TU,UV,VW,?
In the following series, one term is missing as shown by the question mark (?). Select the
missing term from given options.
ST, TU, UV, VW, ?
ars <1 WY
v 2 WX
<3 WZ
<o WV

Q.40 Yafaer & ArsH Fa A Red T A 8, 3 H I AT
Nodes of Ranvier are microscopic gaps found within:

Ans " AfoAgd T
myelinated axons
5, s
gland cells
X3 AT eaTEeT
osteoblasts

X 4, PR

chondroblasts

Q.41 fr 71T Ford W faaR # 3R 77 F F GF T smEr o F S
Fud #F Featted e/l

U
ICATTHT T IR 7 ST o=l TIRT|

FegHT
(1) SRR AT & AT F AARS F=dr § |
(1) FrEme @79 J6E S 8

Consider the given statement and decide which of the given assumptions is/are implicit in
the statement.

Statement:
Teachers must attend workshop.

Assumptions:

(I)  Workshop updates teachers.
(II)  Workshops kill time.

Ans v Fael 3t (1) AR ¢
| Only assumption (I) i1s implicit.
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s, S () 3 () el & e ¥

Both assumptions (I) and (IT) are implicit.
&%mﬁ@mmﬂﬁﬁﬁl

Only assumption (IT) 1s implicit.
4Hﬁﬁmmﬁmﬁmﬁ%ﬁl

Neither assumption (I) nor (II) 1s implicit.

X

x

Q.42 gt g9vT #1919 A BF 9w erg & i Afas @ s &, o 38 gan
@Afdaa aivr ofg #1 9a7 fifee?

HEALTHY

Select the option that depicts the correct murror image of the given word when the murror
is placed horizontally below the word.

HEALTHY

s XKYHTLA3IH
X2YHTLAEH
v:HEVIL1LHA
“+*YHTJA3IH

8 iy TATer W gL H g B
Pir Panjal Railway Tunnel is located in
Ans
FAFH-ch?
W h AR
Jammu and Kashmir

QM RTITmAR AR ol ik Fvr & F ad Fr e e & A A= 7 @
FieT AT FAT TEGT g

AT ], AT T WG § 7

areg
1. Tl o 9N & 4,97%9A, el vd graon, @ wiar & g e g
2. TSl H 3T QI & T GO agd e g

Consider the given question and decide which of the following statements 1s sufficient to
answer the question.

Is Raju fond of travelling?

Statements:
1. Raju has seen East, West, North and Southern parts of India.
2. Raju likes to be in the company of his friends.

Ans X1
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TR&T & 3l Gt o TolT, Gl areT Ue AT 9Aed §, TG Gt gr ae
3ol TS e 2

Both statements taken together are sufficient to answer the question, but neither statement
alone is sufficient.

&2
WRe FT Sec’ Gol o fole, aFFT 2 hael YA § W a1 Fael gaed aet
&l

Statement 2 alone 1s sufficient but statement 1 alone 15 not sufficient to answer the
question.

r 3
T 1 U 2 W A, TACT dAel g AN W 1 3ol ¢ o ferw FfaRed
SRR HT RIS B

Statements 1 and 2 together are not sufficient, and additional data is needed, to answer the
question.

v
9o &1 3co ol & Tolu, a1 sheer GAICT § W G 2 el AT gl
&l

Statement 1 alone is sufficient but statement 2 alone is not sufficient to answer the
question.

4 v TTA] F FgiAr Hr wE hEe aveT g 8

The number of neutrons in an atom is equal to the:

SETATT TEAT - GIATOLST r HET

Ans
o
Mass number — atomic number

X2 N

Atomic number
X3 Soleerar Fr &

Number of electrons
x4, G =T

Mass number

Q.46 3@ ¥ W A 16, AT Afe=ax & AT q3T Gl I A Tee Alfat
g, faue & 31 & F U 9 w4 o0 e i adqqe 3 7 82

Seven years from now Virat will be twice as old as Mohinder. Five years ago Mohinder’s
age was one year less thang of Virat’s age. What 1s Virat’s present age?

Ans x1_ 53 a.é.

53 years
57 I
57 years
51 9
51 years

55 a¥

55 years

&2

K3

v

Q.47 e fEafdier qo i et $mt A, B 3t ¢ & Avems & 10 92 7 s s &1 Ew C Ea
B H R a1 & #R Tt B T A R AN aw &) FEafF m v A & @
e 9T H e gHT oR e

A swimming pool is filled in 10 hours by three tankers A, B and C. The tanker C is Twice
as fast as B and B is twice as fast as A. How much time will tanker A alone take to fill the
swimming pool?

Ans :
X1 90 T
00 hours
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xz_snﬁ%'

80 hours

x3_40€|’%‘

40 hours

v 70 T
70 hours

Q.48

Ans

A fou e IR 7 U fhae v § o S qge RIS TEm S §7

R+JM2$#QR?+O@7F3
The number of symbols that are preceded by a number in the given expression is .

RAIM2S#QRM™O@TE3
<13
v
K32
K44

Q.49

Ans

A a1u Fud W BER # AR a9 F B & a5 @urenst 7§ 8 wla-dud
e A Seamed SE

S

FUIEHAT THIRATS GaRl 3 Rl TR-T “Faeo ARd, 39 AL H A6 G,
Stfaaer &t 3us farfat 3 e sfafear 76 e 9w

AR
1. T Al 399 39EHT B AT AET W@ Tgdl
2. waiidueE AT § sade W

Consider the given arpument and decide which of the given assumptions is/are implicit in
the argument.

Argument:

The campaign of ‘Swachh Bharat®, keep your cities clean, started by the apartment
association didn’t bring much response from its residents.

Assumptions:

1. Residents do not wish to keep their apartment clean.
2. The association had failed in the campaign.

v haol JAURUT 2 Jd=ied gl
'Dnl}' assumption 2 1s implicit.
a1 SR @ 2 SRR R

Neither 1 nor 2 1s implicif.
. cheel qEURON 1 3idfifed gl
Only assumption 1 1s implicit.
] 3t 2 gt gaument afAfka g1

Both 1 and 2 are implicit.

x

<

<

Q.50
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maﬂﬁwwaﬁﬁﬁmﬁﬁlwﬁmﬁﬁﬂﬁﬁll

Chosen Option : --

© | A|[0]

A B Cc D
Select the figure that doeg NOT belong in the following group.

O [B|A\|[0]
Ans X1 A
X2C

X3D
v 4B

1 forfafe smpfa 7 fraer feger Aleg 22

How many triangles are present in the following figure?

ans X111
X213
X310
v 12

Q32 Grafof@a & & #ia 15376 #1 F@iqa 22
Which of the numbers given below is the square root of 153762
Ans - 2 1.128
X< 2134
<3122
v 124

Q.53 37X 3R A= 7 FAEr: 310,000 W T 15,000 & der & HT HEENT IF
&1, dfeher faed WAET & HI0T, AT 7 8 A a1 HOU=AT fder vy o
o) Tger aNE A F T Et A fRE ST 7 ater St ange?

Umar and Avinash started a partnership with investments of ¥ 10,000 and ¥ 15,000,
respectively but due to a financial emergency the latter had to withdraw his investment

after 8 months. In what ratio should the profit of the first twelve months be shared among
the duo?

Ans X'1.3 .2
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v21:1
X32:3
Xa1:2

Q.54 v daged oF & A, fowe IR f Bear 3 s f U e
¥, OF T F HEa & S §) o0 $ Fear R e # e o
I et E?

The volume of a right circular cone, whose radius of the base is same as one-third of its
altitude, and the volume of a sphere are equal. The ratio of the radius of the cone to the
radius of the sphere is:

Ans K-I_BVIE:B\/E
X21:1
K34
.{'4.5\”,;_1_ -33

Q.55 F=Egl & & THR # g TN % Ay g@ WEN & AeEd ¥ el I
FUET H FT & TEe TR F 12 Aeeg R S w10 RE F a5 s
gl S8 F W U B & T 4 TG THH & AAGU AN 8 g@L I F
Aol & e FHE wEem?

Type 1 workers can do three times the work of Type 2 workers. Twelve Type 1 workers
can complete a task in 10 days. How many days would it have taken 4 Type 1 and 8 Type
2 workers to complete the same task?

Ans X1, 20
v 218
< 316
X 417

Q.56 37eifaes geieie alffier Sotarer & B &, 3l yoea &
Asexual reproduction differs from sexual reproduction in that in asexual reproduction,

Ans - IF & Haeh! o Hordel ZIcT g1
1.
the nuclei of gametes fuse

YoieteT § JIAF JT g ¢ |
2.

the gametes are produced in reproduction
| T st @ gfar g

the offspring shows variations

o 4
A7 3T F9F A A-aT F FEF T B

the new organisms are genetically identical to the parent

<

X

@57 (NH,),S0, % W 3] & fhasl wAW] g &7
How many atoms are present in a (NH4)>SO4 molecule?
Ans  of 115
X214
<312
X 413

Q.58
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forer dor F wrer Fi ey T % e Fr st & s Bl S9 swE
44 71 3g O A A et Fr T 36 o Ay Her i fr wew 54 @ A
da & are gt Fr v e gefe

The ratio of the numbers of blue to red balls in a bag is constant. When there were 44 red

balls, the number of blue balls was 36. If the number of blue balls is 54, how many red
balls will be in the bag?

Ans X 1. 64
v 2 66
X 362
< 4 68

Q.59 fFw wifafds Fea & ATegH § a7 AR e o F=aT Tt § et
B o a2
By which legislation were India and Pakistan divided into two independent nations?

Ans o, TR FEEar HAfA 1947
~ Indian Independence Act 1947
x5 uiferrar Taasar sfafaae 1947

Pakistan Independence Act 1947

x 3 AT T AA=TH 1947
Indian Partition Act 1947

\ gifereaa s wafRaa 1947
Pakistan Partition Act 1947

x

Q.60 U WsH HT AN FI U, MM AHF UF AsHl o Fgl, "3THT A &3
ATATAT T Fhellc q¢T 5, A IaHI del T 90T ¢ I PIis S Tar 51" 2w
aHER FT d=hr ¥ Ha @&t §7

Looking at the portrait of a girl, Sheesha a girl, said, “Her mother is my grandfather’s
only daughter who has only one daughter and no sons”. How 15 Sheesha related to the girl
in the portrait?

Ane x 1 it/ aTcTair

Niece

&2 :
Sister

, A (AR T G A /A (Aunt)

Aunt
4Wﬁﬂ§ﬁ@ﬁﬁ%ﬂ%

Sheesha 1s the girl in the portrait

x

v

Q.61 s HERF FT F TEA (FEY 2018 & HgUN) T FA §2
‘Who is the current (as of February 2018) President of the Indian Olympic Association?

Ans IS TAT
x Sharad Pawar

,
Narinder Dhruv Batra
T foer
Abhinav Bindra
Uy U

p
Prannoy Roy

v

p 3

Q.62
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T I fFES U F T H A R AT 82

Momentum is measured as the product of :

x 1, G IR @
Mass and acceleration

X o GO T St=arn
Maszs and inerfia

v aegAE AT 9

Mass and veloeity

X4_a€aﬂm3ﬂtaﬁ
Mass and force

Ans

Q.63

10

5 3 2
4
3 9
[ ]1—Boys (7} — Athletic
£\ — Cricket ] — Disciplined

RF 7Ir 37 3w F 3FER, P W AW TA5F A voiEE H o o §
3k Grre oft @ad & w1 e B2

10

53| 2
4
S a
[ 1—Boys (O) — Athletic
£\ —> Cricket ] — Disciplined

According to the given Venn diagram, which number represents ‘Boys who participate in
athletics and also play cricket’?

Ans ?{’1,2
v23
X3
<411

Q.64 #3elia 3l amad grull #, 9@l & 108 Bl IF I 1A TTHIG HFT
1G]
In Mendeleev’s periodic table, the properties of the elements are considered a periodic
function of their:

Ans AL 3tedll
Atomic number
V2 ULHIU] qodHIH
Atomic mass
| STEIRUT gl
Tonization enthalpy
x o, T & 3ATHR

Atomic size

X
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Q.65 few v weer WX fauR &Y AN a Y & Aol Fua # ¥ Fid-a1 F2
T &I Feal & % faw uEed 7

X HR Y & i ¥ dg FaF &2

FY:
1. X & 3170w Fe7 3fifeee fw &
2. Y o #7u W sfeeE ugeer e am

Consider the given question and decide which of the following statements is/are sufficient
to answer the question.

Between X and Y who is the better dancer?

Statements:
1. X had given more dance auditions.
2. Y had given more stage performances.

Ans ?(' 1.
T FIT 1IN TAFIT 2 99T &
Neither statement 1 nor 2 is sufficient

v
P FUF 2 qATT B, FAdfh HUA 1 3hol JIAT &

Statement 2 alone is sufficient while statement 1 alone is insufficient
X 3
3ol HYT 1 GATCT & T FUF 2 3hol IUATTT §

Statement 1 alone is sufficient while statement 2 alone is insufficient

HUd 1 3T 2 g gIeg §

Both statement 1 and 2 are sufficient

Q.66 Prrafofla & O i &1 srar o Hifeat d safdua gar
‘Which of the following acids is present in Red Ants?

e o | Ao 3
Malic acid
X2 HTeFAToreR 37T
Oxalic acid
o PITE 3Fe
Formic acid
x4 AGEE P

Tamnnic acid

Q67 fgw 3w AT & FHE F [©IT FI¥ 39YFd UG g |

Q@i

Select the most appropriate term for the following set of items.

Qe

v
Celebration

X 4

An
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Meeting
R
r 3 et
Marriage
F
Books

Q.68 2T il #T a7 FEAT AT HIT AT SHA 3R F YOG T AT T &
Find a two digit number which is exactly three times the product of its digits?

Ans x1_36
X212
X 3 48
v 24

Q.69 ' wHIffivew % T aFad TFAH & o@® B §, A JoA H
g safoe Rl aE & o g2 aw §2

‘Who is the author of the book *The Association of Small Bombs®, which is currently
shortlisted for the International Dublin Literary Award?

e R At
Namitha Ghokhale
2 weufa T
Arundhathi Roy
vs Idd T
Chetan Bhagat
Hld Hgl=ld
* Karan Mahajan

Q.70 wradt 2018 W, Hielehdl I HEITT EF Heiehdl AISe TSSY' HT Aol
FTE?
As of February 2018, who owns the Kolkata-based IPL team ‘Kolkata Knight Riders’?
Ans Hia arerelr
X 2
Sourav Ganguly

HET @
52
Aamir Khan
MeTE WA
W 3
Shah Rukh Khan
gd T
p
Subrata Roy

Q.71 35 & &= =¥ &€, 9 H 3, A H AG F A § IS a9 HA g
3T ST & IO A & AT 61 aY §) 9T & a0 g e 87

Three years from now Dharitri’s age will be eight years less than twice Eunice’s age. The
sum of their present ages is 61 years. What is Dharitri’s present age?

Ans
v 39 ¥

39 years
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x o 41 el
41 years

x5 43 EL)
43 years

x4 36 el
36 years

Q72 ABCS+#DEF&=?GHI'2+@
FR T HqFa 1 39IRT F& el T #
ABC :@+2 :$HE
ABCS$+#DEF&="GHI!2*@
Find the missing term using the above sequence:
ABC:@*2::S#E:

ans o 1 1H?
22 7H!
X 3 HG
X 4 HH!

Q73 1 kWh = ?

Ans  of 1.3.6 X 10°]
< 23.6x10%]
X 336x107%]
X 43.6x%x107¢]

Q.74 el wam 7 9 B it T oEw # G oieT F ot & g @ o
12 & 3l ot & A @ sitaw 14§ 3R @b ot F oo g 7w
sree 13.1 & & @ew F For o e w2 A7

In a class, there were 9 boys and some girls. In a test the mean score obtained by the boys
was 12 while that obtained by the girls was 14. If the overall average was 13.1, what was
the total number of students in the class?

Ans X 1.22
< 219
V'3 20
X421

Q.75 9.5% a1 WURUT =TT 9T IS TRI6 a¥ & T 942 8 S &1 3mWer & forar
arm fAger =T ar?

At 9.5% simple interest per annum a sum of money became T 942 in 6 years. The sum
initially invested was:

Ans X 1.3 626
v 2 %600
X3 T 675
X+ ¥ 650
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